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BEFORE ATTEMPTING THE QUESTIONS READ INSTRUCTIONS CAREFULLY.

Instructions to Candidates

1. The candidates are required to write his/ her Full Name, Roll Number and
Registration Number on the Question-cum-Answer Booklet according to the Admit
Card issued by the Council ( If it is wrongly written, the Question-cum-Answer Booklet
may be rejected ). It is compulsory for the examinee to get the QuestIOI'l'Cl«'m"\“SWer

Booklet signed by the Invigilator in the space provided.

2. A box is provided at the right side against each question of MCQ. You must write the
correct choice ( @, b, c or d) in this box. For SAQ of 1 mark, answer to be written in

the specific given space against each question, not anywhere else.

3. After completion of the examination this Question-cum-Answer Booklet must be

tied securely with main Answer-script.

1. Complete each of the following sentences, choosing the correct option from the

alternatives provided : 1x4=4
(i) Abdul Kalam'’s father would convey complex spiritual concepts in simple,
down-to-earth
(a) Arabic (b) - Urdu
(c)  Tamil (d) Telugu. ["_—_]
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(1) The wounded man was actually
(a) enemy of the hermit (b) enemy of the Tsar ‘
(c) friend of the Tsar (d) disciple of the hermit. E:]

(i)  The narrator had the compartment to himself up to

(a) Saharanpur (b) Dehradun
()  Rohana (d) Mussoric. (]
OR l

The girl in the train compartment thought the narrator to be

(a) gallant _ . (b) serious

() gallant and serious (d) pretentious. C] i
(iv) Kalam's ancestral house was built in

(a) mid 19th century (b) late 19th century

(¢)  early 20th century (d) early 19th century. [::]
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Answer any four of the following questions, each in a complete sentence :

| x4=4
Who did the narrator of The Eyes Have It' think to be formidable

creatures ?

What does Kalam's father say about the importance of prayer ?

What did Abdul Kalam'’s father use to avoid ?

What was the hermit doing when the Tsar came to take leave of him ?

Why did the Tsar put on simple cloth before meeting the hermit ?
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(vi) How did the girl describe the narrator ?

Ans.

(vi1) What, according to the hermit, is the most important thing to do ?

Ans.

(vilj Who was the priest of the Rameswaram temple ?

Ans.

(ix) Where was the girl :in the story The Eyes Have It’ getting off ?
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3. Complete each of the following sentences, choosing the correct option from the

alternatives provided : Bl
(1) Nature is pleaded to keep the soldier
(a) pleasant (b) warm
(c) asleep (d) peaceful. I:]
(i3) Being tired, the Grasshopper rests beneath
(a) green hedge (b) bushes
(c) pleasant weed (d) grassy hills. ' D
(iii)  The marks of wound of the soldier are
(a) on his head (b) on his chest
(c)  in his side (d) in his leg. (]
OR
The darling buds are shaken by rough winds in
(a) March (b) April
(¢  May (d) June. ' |:]
(ivy  Nature's changing course is’
(a) dimmed (b) temperate
(c) untrimmed _ (d) lovely. D
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4 Answer any four of the following questions, cach in a complete sentence .

(1)

Ans

(11)

Ans.

(111)

Ans.

(iv)

Ans.

(v)

l1~4=4

Where does the soldier lie stretched ?

Why is the soldier pale ?

What kind of a poem is ‘Shall [ compare thee to a summer’s day’ ?

Where do the birds hide when they are ‘faint with the hot sun’?

How long will the young man be remembered in Shakespeare’'s Sonnet

No. 18 ?
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(vi) What does the ‘eye of heaven' refer to ?
Ans

(vi)  What shall death not brag about in Shakespeare's poem ?
Ans.

(vii)  From where is the shrill song of the cricket heard in The Poetry of Earth’?

Ans.

(ix) Where does the stream leave ‘long strands of silver’ ?

Ans. ‘
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5. Complete cach of the following sentences, choosing the correct option from he

alternatives provided :

(1)

(1)

(i)

(iv)

Lomov's aunt's name 18

(a) Natalya Stepanova (b) Natasha Vassilevitch

(c) Nastasya Mihailovna (d) Natalya Mihailovna.

Lomov went to his neighbour, Chubukov's house

(a) to borrow money

(b) to settle a dispute

(c) to give a marriage proposal

(d) to complain.

Chubukov said that Lomov’s younger aunt had run away with

(a) a hunter (b) adrunkard
(c) a count (d) an architect.

The worst of Lomov’s physical problems is

(a) the way he sleeps (b) his palpitations
(c) his headache (d) his limp.
OR
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(iv)
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The minister first inaugurates

(a) a cycle shop (b) a ration shop

(c) a shoe shop (d) a cloth shop.

The name of the gambler was

(a) Chait Ram (b) Ramlal

(c) Ramcharan (d) Uday Ram.

The queen gave five coins to the guru for teaching Charandas
(@ never to sing (b) never to get drunk

(c) never to steal (d) never to tell a lie.

The woman made her ornaments from

(a) Jalgaon (b) Bhatgaor.x

(c) Raigarh (d) Nandgaon.
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